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QUESTION 1

You need to load SQL statements from a time period of optimal performance to compare against a time period that

performance was reported as poor. Which functionality would you use to accomplish that task?
A. Optimizer Statistics Comparator

B. Dynamic Baseline Advisor

C. Automatic Workload Repository Baselines

D. SQL Tuning Sets

E. Database Replay

Correct Answer: D

QUESTION 2

To analyze all database instances in an Oracle Real Application Cluster, in which mode would you run Automatic

Database Diagnostic Monitor?
A. INSTANCE

B. DATABASE

C. FULL

D. CLUSTER

E. PARTIAL

F. ALL

Correct Answer: A

QUESTION 3

Which is a true statement about the difference in the functionality of Active Session History (ASH) and SQL
Trace/TKPROF?

A. ASH provides time based data, SQL Trace/TKPROF does not

B. ASH provides detailed session level data, SQL Trace/TKPROF does not

C. ASH is always on, SQL Trace/TKPROF is not

D. ASH identifies Bind variables that are available, SQL Trace/TKPROF does not

E. ASH counts and has occurrence data, SQL Trace/TKPROF does not
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Correct Answer: B

QUESTION 4

Which two statements are true about Oracle Enterprise Manager Database Express?
A. It uses internal infrastructure components, such as XDB and SQL*NET.

B. It can perform actions inside and outside the database.

C. Performance Hub and Composite Active Reports are its key functionalities.

D. Itis not supported on Oracle Standard Edition or Express Edition.

E. It replaces Oracle Grid Control.

Correct Answer: AC

QUESTION 5

When managing multiple database instances on a single server, which initialization parameter limits the number of
CPU\\'s that an instance can use simultaneously?

A. CPU_NUM
B. NUM_CPU
C. MAX_CPU
D. LIMIT_CPU
E. CPU_COUNT

Correct Answer: E
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